00y D UAI] ISBAN JECHRTS

v
Y, &

1991330 159104 [Busisia|g WOOLLIHS ., NOILO3S ¥OOLLI
y @O0 B O0LM 351410 IONVY fq A Mateiyo 7
s sl % :
pausig aajuno) ) %.dﬁv Y_
TLZ0L 891'SZ | 000°0 0 £ zz [/ sos 89T 866 T el

Y ‘WND GG'CT = WND T X

09/£18 : @243 jo syed Jayjo

: pue wajs buipnpaxa saa.4)

s SEOR JO Jagqwinu Qg J4ad "wnd

T ©® sBim) pue sayouelq

2pIsS 10) poom [2N4 -:AAY
Z6te £68°0 0 0 £ (43 14 6¢€ edap EJIpuUl elyoelipezy| 8T
856 EFED S e 0 0 0 9z 73 o€ ninyniaa ealaud sAyoeysolydiql| /1
65 T20°0 e e 0 0 0 L 0 T pjlunyLpgxoy uojAxouejaw sothdsoiq| 971
8¢9 6810 = h 0 e 0 0 0 i eyl 13Jl||aqeyly snssedog| g1
0s 8T0'0 e e 0 0 0 4 0 Z ewiwnyie|aL exoydoona| epedy| 1
Z9FT +25°0 = o 0 0 i 81 0 61 Issede] eljojuba3ul esjeydojoH| €7
S¢ 600°0 N = 0 0 0 ik 0 T Blpunsg elpuns epely| zt
01¥e £98°0 =5 = 0 T £ PT 0 8T ejedday BLIORUR BAYBLM| TT
orerT St+°0 5 S 0 0 0 i Z 6¢ ejay g|niysy eissed| 01
ST 0¢€9°'0 R = 0 T T 9 0 8 npaltan iwno wnibAzAs| g
S¥T ¢s0°0 == L 0 0 0 9 0 9 eaelep eSOjUBWO} eUWBId| 8
06T 890°0 == = 0 0 0 ¥ 0 12 ese|eqe||eN Wwinaooalp wniyqued| £
¥68I1 6490 == 5= 0 0 0 LE 8 St 11SNA BIIWOA XNu souydAns| 9
5908 SI8'T i = 0 0 0T 194 0 2 IPPEW ESOjusLWo) epulio| g
1€ 1100 5 == 0 0 0 T 0 T Ipuobepeber euejuow solAdsoig| +
08¢ 9ET"0 i o 0 0 T £ 0 14 B||IyD eyoo|jebe eleda00x3| ¢
80t9¢ SSt'6 s = 0 0 € 645 0ST (4574 esebiyn elewe eizziqly| ¢
94T 93500 == = 0 0 0 g 0 G BLULWIUIARPY siineaixajdwe eusjog| 71
(4 IT ot 6 8 L 9 S 14 £ eg [ T

= Sauuo] ul|l wnd ul SoN MCNLW Mrww b i, o s3au) awep |e207 swepN |edjuelog
O A%eR _uoo_.s_wsn_. LmnE_H Ul sajod | 2A0QY 0 16 RES-E3 | 9 1E o€ 03dn Jo'opN . ON IS
[e30L S993.] JO'ON @SIM SSe|2 yHID sa10ads ay3 jo sawepy

uoisialg / @buey 3sam 10011Yy)D jo jeag esedeniy) 4y ojjedeaeseg g esedeniyd ‘£zz ‘ezez ou "3dwo) ui
m,n._:__)_ BISISBA IS S/IW Jo eaue paljdde ayj ul (asim uopesyisse|) Yo ‘asim sa12ads) uonesawnua aaJ) ay3 Buimoys pessqy



